X={x|-2<x<2}, Y={y|-3<y<3}oA [ : X>Y flx) =
ax+b (ta>0) 2 Q4o=H= g (7t i 50l H=%a, b
o] F& gohH?

Q
I

S
I
jan}
@ ©
S
I
N
S
I
)

F7L4dY tj-go]il g > 0022

f(=2)=-2a+b=-3
f(2)=2a+b=3

3
Ca=2b=0
4= 3




(fog)(x) = f(g(x)) = flax+Db)
=—(ax+b)+a=-ax+a-bOl|BE —ax+a-b=2x-4
a4, o]A2 x of gt FsAoln=

a=-2,b=2

cab= -4




T4y =lxt 11—l x-3] o AN M, AEE m ol T o,
M - m o) & Ffeet,

cCh -
="

>
> met: g

od -

B )
y=lx+1|-|x=3]| °lA
)x<-1 &
y=—(x+1)+x-3=-4
ii)-1<x<3 <
y=x+14+x-3=2x-2
i) x>3 & of
y=x+1-(x-3)=4

ol el A Foi 9] T 2Tt o y
= 13 goug AF==r
M=4,m=—4 :
I
M—m=4-(-4) 0 ! .
-1 1 3 v

= 8 |




0|

FAF X =1(1, 2, 3}, Y = {a, b} o 5t X oA v 29| g
% f(1) =b & A FE Fotoiet

> g A

D=

f1)=b A FS fE k2T 2k
wHebA, ok 4 f & 4 7otk

X—>f Y X—L>Y X—f>Y X f ¥
1 ¢ : a L @ 1 .a
2 b 2 b 2 b 9 ;




5B 7(x) =2 =5, glx) = {f =0

ool

ofl tate] (g0 f)(2) +

x (x<0
(gof)(3)9] S oot
> E

> Heh: 9

(g0 /)(2) + (g2 /)(3)




T4 f(x) = —2x+3, g(x) = 3x+1 9l I8k (go(fog) Lo f1)(5)
o] 2He oA 2.

(go(fog)tofM)5)

=(go(g o f o f)(5)

=(gog ) o (fof )5

=(fof )

=fo(f71(5))

i) =k 2 E°W f(k)=-2k+3=5
SLk=-1

L (EA) =0N6) =) =1
- =12 %o
f)=-20+3=-1

Ll=2

LEA) =) =1=2




SEAZ o,

o

D f(x) = ax® + bx + c7F 71”olAL f(1) = 3
a+b-c = F5HH?

D1 @ 2 @3 @ 4 ® 5

.
A4t BE A 1o thotel 278el choted Hhgolojof 3t
=

f(=x) =-f(x)
ax* —bx+c=—-ax’> -bx—c
Tt a=0,c=0 .. f(x)=bx
f(1)=3°|BZ f(1)=b=3
Lat+b-c=3

=




A~
A5

rn

A% AR Aol A ALY B4 f(x) 7 (1) =30l T, B
x ol thstel

flx+1) = llf]{((j)) = WEARIG o] mf, £(1998) ©f #h27

T2 BEE £(1998) = £(4x 499 + 2) = £(2) = -2




FrFfx) =22 -dx+6(x>22) dFFE g(x)t S 0, y =
Oty =g(x) & T F ] Ato]o] AE P& W, &2

2991717

R

@ 1 @v: ovi @ ® 5

N

Mo &

B

y=f(x) ¢ty =g(x)e] IHZ =

y = f(x) 8 22fme}t A y = x o] Wz} Ak
x? —4x+ 6 = x°ll A

¥ -5x+6=0,(x-2)(x-3)=0
x=2F=x=3

T2hA y = f(x) &y = g(x) o] L= 9

= WAL (2,2),(3,3) 01,

o] & W Ato]e] A=

V3B-22+(3-22= 12

B

X2 —4x+6=x,
Zx2-5x+6=09F 22 e,p5IH
o|Zpurg A o] 2t A% AC] Jsted
a+B=5a08=6

A y = f(x) 2y = g(x) &

JEO F WHL (o, ), (B,8) AFol8] A=
Vie=p72+(a=B)? = V2 /(a +p)? -~ 4o
— VIV -4-6= V3




10. AR f(x) &= Age xoll tote] tha-& THE3T xf (x)+ f(1-x)
x2 42 0] o, £(100) ¢ gr-e?

@® -101 @ -100 ® 0 @ 100 (®)101

B

f(x)=ax+betECH
x(ax+b)+a(l-—x)+b=x>+2

ax’> + (ma+b)x+ (a+b) =x*+2

9] 4.2 xofl it F5A0)mE
a=1,b=1

ol f(x) =x+1°]2& £(100) = 101




